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51. ^ ^

^  ̂Ri=ti Rh^I'A "I", ■ A' ^\h

^ ̂ 1wif ̂

^TTdt ti l" PHHRrlRsicl t*

f ̂  ^ t ?

(A)
1

(B)

(C)

(D) ̂

52. Pi*^iT^ci fq=hcrHT t* Hnai t "%

t ?

(A)

(B)
I

(C)

(D) ^

53. "^n^-^^fRT ^ 3T^ ft«2TT t .1

^ 3T3^?R tefffer ■^,

sraf ^ t ?

(A) ^

(B) STOji; •
(C) ^ ̂

(D) aij^iWfN
(8)5/14/2024/A

51. "In the organic system, of cosmos 'Rta' is

the dynamic moral principle of 'Sat' and

serves as the principle of the Prakrti

(nature outside) and of the human intellect

(Buddhi) as well." This statement is true in

the context of which one of the following ?

(A) Samkhya- Yoga

(B) Jain-Bauddha

(C) Veda- Upanisad

(D) Nyaya Vaise§ika

52. Which one of the following sets accept

that the Vedas are ' Apauruseya' ?

(A) Mimosa -Advaitavedanta

(B) Nyaya-Vaisesika

(C) Sainkhya-Yoga

(D) None of the above

53. Fpr ^ankara-Ved^ta the world is false
(Mithya). Which one of the following is
the meaning of the term 'Mithya'

according to S^ara ?

(A) Real

(B) Unreal

(C) Both Real and Unreal

(D) Indescribable

P.T.O.
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fer W ̂ teRi t ?

(A) WRtrro "qcf dr4HlMI-HI

(B) cTWMhT ilPmNHT

(C) dTci4lHWI

(D) WTNm

55. 'mIhWI

'whRTf^' ̂

t :

(A) "3?^^

(B) WRT

(C) ^

(D) 378lfq^

56. MRuiRdK teRT PdHlfdid ^

t ?

(A) HHIl'^H,

(B) "^TRsiT.

(C) #[s2T, -m^

(D) ^ ̂

57. "M:* ^ "CR t I
'  yPdRd ^ ̂̂dlcri ^Rr

^ ̂ TFTI I

"Rr wk ̂  "fen.

^ 131T ■qRT w \ W "Rrt wm
«TFf^ ^ XR "k* "MdT ^ ?

(A) (B) 3iqT^

(C) 3151M (D) a^sqfqRr

(8)S/14/2024/A

54. Jain Theory of 'Anek^tavada and

Syadvada is respectively the theory of :

(A) Epistemology and Metaphysics

(B) Metaphysics and Epistemology

(C) Metaphysics

(D) Epistemology

55. According to 'Mimansa Darsana' which

of the following is not one of the six

means of 'Gyanopalabdhi' ?

(A) Pratyaksha

(B) Upmaan

(C) Samyak Karma

(D) Arthapatti

56. The theory'of ParinamavFda belongs to
whom of the following ?

(A) Sankara, Nagarjuna, REunanuja

(B) S^nkhya, Yoga, R^anuja

(C) Sankara, Samkhya, R^^uja

(D) None of the above

57. Deodatta is on hunger strike for 10 days..

He is not taking food during the 24 hours
strike. After ten days he is found his

weight increased five kg. By which of
the following Pram^as we know that

he eats during night ?

(A) Anupalabadhi (B) Abhava

(C) Anum^a (P) Arthapatti
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58. tHeTH Chilly, :

j

(a)

(b) cfeHlRel ^

(c)

(d)

(1) rc^MildbsMlPd

(2) ̂T^sqrfd

(3)

(4) ̂dteijlPd

(a) (b) (c)

(A) (4) (2) (3)

(B) (3) (1) (2)

(C) (3) (1) (4)

(D) (2) (1) (4)

^ <\;!M ^ 'sra

60.

5lld sfk RhPs ^ -^lldl

t eft ^ ̂ 31^

t I ^ ̂  ̂  t ?

(A) (B) ̂

(C) ̂  (D)

^ 375^ '^Fle^ sfR yftg ^
^ ̂87 -^IT^ t :

(A) STHfrft

(B) alk ̂  (iniM)

(C) afk "3^

(D) "3^1^ ^ ̂  ■3^*

(8)S/U/2024/A ;

58. Match List I and List II :

List I List II

(a) Nyaya-Vai^e§ika (1) Viparitakhyati

(b) Kumarila Bhatta (2) Akhyati

(c) Ramanuja (3) Anyathakhyati

Prabhakara (4) Salkhyati

(a) (b) (c) (d)

(A) (4) (2) (3) (1)

(B) (3) (1) (2) (4)

(C) (3) (1) (4) (2)

(D).(2) .(1) (4) (3)

59. According to Jain Philosophy, after the

accomplishment of right faith, right
knowledge and right conduct the influx
of fresh K^mic matter is blocked. That
state is called :

(A) Asrava (®) Bandha

(C) Samvar (D) Nirjara

60. According to Rain^uja the world

(Jagat) and the creature (Jiva) are related

to Brahma :

(A) Whole and parts

(B) Cause and effect

(C) God and his creation

(D) None of the above

P.T.O.
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61. PHHRdRsid "f^ ^

^ ̂ 37f^r^ "CfHT

t ?

(A) ̂  3TTrHf^T^

(B)

(C) 'MHddlkddl ^^'^r^ddl

(D) ̂ Tfwfd: oi^ic^^iRch

62. TTt^dildlH A T^'

SifeimH 37fel?WT

1^ t ?

(A)

(B) m 8TTO y.r=WHm

(C) ̂  ̂HIWI^H

(D) m

63. ^ ^PcHImT ̂

aim' ̂  ̂  t I 3T?l: ̂

"^sndT ■§■ :

(A)

(B) ml^?iiPHdi "^RrnKt

(C)

(D) H^Pd*iddi

(8)S/14/2024/A

61. Which of the following cannot be

considered an essential mark of the Post-

Aristotelian schools of Philosophy ?

(A) Intense subjectivism

(B) Pure scientific spirit

(C) Anthropocentric and Egocentric

(D) Essentially practical

62. Which medieval age philosopher has

made a distinction between 'existing in

thought' and 'existing in reality' ?

(A) Saint Anselm

(B) Saint Thomas Aquinas

(C) Saint Augustine

(D) Saint Abelard

63. Rene Descartes uses sceptical arguments

merely as "heuristic'. He is, therefore

called as :

(A) Problematic sceptic

(B) Psychological sceptic

(C) Transcendental sceptic

(D) Methodological sceptic
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64. ^ 31^;^ 'wr ^

oqici^iRch ^'^ioqai ^ "fcTt^ Hi-^ai

3lfeFf ̂  t :

(A) ̂ 3TCT ^

(B) 37T?RT ^ ̂H<ai

(C) ̂ TTcqr ^ liH<Nd<ui

(D) 3^™ ̂  SRT^^T

65. Ito ^r#i^ ̂  ̂  1^

*V^ 31^' ̂  WI ̂  ̂ ^
"q;^ 31?^ ?

(A) R^'il^i (B)

(C) eUff^ (D)

66. PiMHrlfed ^

tfe ̂  ̂1dil< ■^* ^ ?

(A)

(B). W^ .

(C) c6|44iKui

(D)

67. ctiiui 3T5^ ' ^iw'
f :

(A) ^81T«f

(B) W: "^RI^

(C) ^4* ^ TF «T8RT

(D) #5:4f ^ aTOR 3T8M ^

{8)S/14/2024/A

64. According to Immanuel Kant, this

supposition is mandatory for the practical

possibility of the 'highest good' :

(A) Irmate virtues of the soul

(B) Immortality of the soul

(C) Re-incamation of the soul

(D) Intuition of the soul

65. Which modern western philosopher

asserts that 'nothing can be like an idea,

but an idea' ?

(A) Spinoza (B) Berkeley ,

(C) Leibnitz (D) Hume

66. Which of the following laws of association

is not accepted by David Hume ?

(A) Association of Resemblance .

(B) Association of Contiguity

(C) Association of Causation

(D) Association of Identity

67.' According to Immanuel Kant, 'Space and

time' are :

(A) Realities

(B) Things existing for them selves

(C) Qualities or relations belonging to
things '

(D) Forms or functions of the senses

5  P.T.O.
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68. ^ ̂

^ "^f 3^17^ ̂  3727^ ^

37f^75q^ cf^ % :

(A) 37^V ̂  ■aTTTO

(B) 1?^ 3727^ ^ 37t™

(C) ^ cnf¥^ 7?^

(D)

69. ^ ^ ^

-■^ W t, iTT^ "^TF ^

^  ̂ :

(A) V^

(B)

(C)

(D) *i77fuM

70. WTFT Wrf ^ ^ OT

'37^ 37^' ^ W iteW ^

"sfF "3^ yRi«i.&ai ^ t :

(A) MiRi=6^Kl

(B)

(C) HIHclKl

(D) 372ffOTT^

(8)S/14/2024/A

68. According to Hegel, the 'Absolute mind'

expresses its essence or truth in

philosophy as :

(A) Forms of intuition

(B) Forms of presentation or imagination

(C) Pure logical concept

(D) Transcendental concept

69. The problem of the nature of the world

is handled by Spinoza like it is a

problem of this field :

(A) Art and Aesthetics

(B) Arithmetic

(C) Geometry

(D) Algebra

70. Berkeley's 'rejection of abstract ideas' in

favour of general ideas shows a

commitment to this position :

(A) Materialistic position

(B) Realistic position

(C) Nominalist position

(D) Pragmatic position
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71. ^ ^

^  :

(A) - "^ ̂  ̂ ̂
■^i?T ^TMl t" i

(B) ^ -^aiH ^ ^
3T5^ I

(C) "gf^ - ^ ^
gf^ai ■^n?II f I

(D) - 3iMHH ^
XFT 1

72. Md'^^Pd ^ 3T^ -qW ^ *3Tf^

13^* ^ :

(1) 3Tf^ 3rf^ ^ rsb^l4idl- .
I

(2) ^ aig^R i

(3) 3Tf^ -^f -Slta fd<=bd^dl ^ W
t I

(4) "SrRra tOTTWT-
I

W '

(A) ^ (2) ^ t -g^' (1), (3),
(4) "n^ "t

(B) (1) (2) f
(C) (3) V^ (4) ^ t

(D) (2) TT^* (3) t

(81S/U/2024/A

71. Choose the option with correct meaning

under Brahmavihara :

(A) Maitri - Affectionate feeling is
called Maitri.

(B) Karuna - Experience of Joy
istead of displeasure.

(C) Mudita - Affectionate feeling is
called Mudita.

(D) Upeksha - Special attachment
towards support.

72. Consider regarding 'Ahimsa and Santosh'

in Patanjali Ashtanga Yoga :

(1) On being establisihed Ahimsa the
fruit of action will manifest.

(2) Established in contentment Supreme
happiness evolves.

(3) On being established in Ahimsa
hostility not present in one's vicinity.

(4) On being established in Santosh,
fruit of action will manifest.

Codes :

(A) Only (2) is correct and (1), (3), (4)
are wrong

(B) Only (1) and (2) are correct

(C) Only (3) and (4) are correct

(D) Only (2) and (3) are correct

P.T.O.
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73. *37?t "^*

"q^ I^TSfR :

(1) ^^^ TmsqqqfW <i(r^r^d t I

(2) ^

TT^* t I

(3) ̂  t I

(4) ^:'#* 3Tf^

STt^RI "3^4 ̂ iFT "t I

(A) (1), (2), (3), (4) ^ f

(B) (1) (4)-^ f

(C) (3) Tt^* (4) ̂  t

(D) (1), (2) (4) ̂  t

t 1

(A) ̂  ^ ̂

t I

(B) "q? 3m t ̂«TT

■qft oqioqi t" I

(C) "q? 3m t m
^  mm ^ t I

(D) "^F ^ t ^
mm t I

(8)S/14/2024/A 8

73. Consider the Purusartha in-'Atha-

Trividha Duhkhaatyanta Nivrattiratyanta

Purusharthah' :

(1) It is mentioned in Sankhya Karika.

(2) Here in, Trividha Duhkha means
Aadhidaivik, Aadhibhautika and
Anandita.

(3) It is mentioned in Sankhyasutra.

(4) Here in 'Atyanta Nivratti from
Trividha Duhkha is said to be

Atyanta Purusartha.

Out of the above statements :

(A) (1), (2), (3), (4) all are correct
(B) (1) and (4) are correct

(C) (3) and (4) are correct

(D) (1), (2) and (4) are correct

74, 'Mandah Yogakshemat Preyah Vranita'-

Dull-witted people accept only Preya for
the sake of Yogakshema :

(A) This is not correct explanation of
Preya.

(B) This is mentioned in Kathopanishad
and is correct explanation of Preya.

(C) This is mentioned in Shvetasvataro-
panishad and is not the correct
explanation of Preya.

(D) This is mentioned in Ishavas-
.  yopanishad and is correct

explanation of Preya.

https://applink.adda247.com/d/XhqWf9lSap
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(1) ̂

t I

31FT ■^* "^ it^ T^

(2) "IPT ^ ^fPTRl"
^Jl-S^l I

(3) I^TH^
^f 1^R#i 3irafe ^ ̂  '^,

aflT ^ 1TTT f I

(A) (1), (2) V^ (3) ^ t
(B)' (1) v^ O) T{ii ^ -m (2)

t

(C) ^ (2) ■^* (3) t (1)
"TT^ "I

(D) ^ (1) 13;^* (2) ^ t TO (3)
-rm t

76. ^

^ ̂ Tc^ "^f WT ^8FT ^ WT :

/  (A) ^Ici^lci* '^*

(B) ^

(C) 3T^

"3^®? t"

^ ^iRriMiisl ■y.o ^

■5^^ f

(D) ^ t

(8)S/14/2024/A

75. According to Shrimad-Bhagvad-Gita,

Sthitaprajna :

(1) Remains satisfied within himself.

(2) Gives up all the desires of the
mind.

(3) Whose mind does not feel sad in
sorrow, who has no attachement to

happiness and who has given up

love, fear and anger.

Out of the above statements :

(A) (1), (2) and (3) are correct

(B) Only (1) and (3) are correct and
(2) is wrong

(C) Only (2) and (3) are correct and
(1) is wrong

(D) Only (1) and (2) are correct and (3)

is wrong

76. According to Sarva-darsana-Sangrahakar

select the true statement according to

Charvaka Philosophy :

(A) Yavajjivam Sukham Na Jeevat

(B) Kama is not the alone Purushartha

(C) Pleasures generated by Angavadi
Alinganadi is the only Purushartha

(D) Shabda is Pramana

P.T.O.
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77. ^ ^

(1) Ti^*

^  ̂ iTFf t I

"R^SJ TTFf f i

(3) ■H^'\ "t I
(4) Hid^Rl3^^fi|HH: xr^

t !

(A) (2) XT^ t "neTcT t
(B) ctiqci (2) (4) XT^ ^

t

(C) (2), (3) (4) t,
(1) "iFRr t

(D) (2) -q^* (3) f, (3) "
TT^* (4) 7T^ t

78. ^ ■^* ^^^qqiAFRT f":

(A) M ̂  ^
"^rar "^iWT ""FIT "I I

(B) 1=^ t, ̂  "^TtaH
t I

(C) alk XF ^ ^
^  I

(D) -tilqai W? cfn 41QH "I' I

77. According to Umaswami's

Tattvarthasutra regarding Triratna :

(1) Samyak Darshan, Samyak Jnana
and Samyak Dhyana are paths to
Moksha.

(2) Samyak Darshan, Samyak Jnana
and Samyak Charitra are the paths
to Moksha.

(3) Tattvartha-Shruddhanam is Samyak
Darshha.

(4) Mati-Shruti-avadhi-manah paryaya
and Kevala are knowledge.

In the above statements :

(A) Only (2) is correct and rest are
wrong

(B) Only (2) and (4) are correct, the rest
are wrong

(C) Only (2), (3) and (4) are correct,
(1) is wrong

(D) Only (2) and (3) are correct, (3) and

(4) are wrong

78. The incorrect statement regarding Rta is :

(A) Gods are not said to be the holders

of Rta

(B) Indra says, Rta makes me poweful

(C) Rta and Truths were bom from

Penance

(D) Savita follows Truth

(8)S/14/2024/A 10
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79.

(1)

(2)

(3) ̂Pm^^SFT

^ WW

(a)

(b)

(c)

(d)

WTTfwd^

80.

(4) iPTTH5m

^ :

(A) l-a,-2-b, 3-c, 4-d

(B) 1-a, 2-d, 3-c, 4-b

(C) 1-b, 2-c, 3-d. 4-a

(D) 1-aj 2-d, 3-b, 4-c

^feilPdr^d ;

^ ̂ ̂  ̂̂ 3Tf
■pRRt ^ 33k ^ "^pft ^klT
f I
^  t,. ■^.

wn ^ ^ t I
^ (^T«zm) t, ̂  ■^Wf

^  t I

(1)

(2)

(3)

(4) ""JpIT cfil WHT (<icHRl)
t. 'sm^ % wn 1^ ii ̂
ti -

W
(A) (1), (2) ^ t (3),

(4)

(B) (1), (2). (3) t
(4) "'W t

(C) (2). (3), (4) ^ t-T^'.
(1) t

(D) (1). (2). (3) (4) ^

79. Match the correct pair : '

Vedic Tradition Jain Tradition

(1) Brahmacharyashrama

(2) Grihasthashrama

(a)

(b)

Shikshan Kaa

(3) Vapaprasthashrama

(4) Sanyasashrama

(c)

(d)

l
(Teaching Time)
Samayika-Charitra
(Topical Time)
Chhedopastha-
paniya Charitra
Grihastha Dharma

(Household Dharma)
Codes :

(A) 1-a, 2-b, 3-c. 4-d
(B) 1-a, 2-d, 3-c. 4-b
(C) 1-b, 2-c, 3-d. 4-a
(D) 1-a, 2-d, 3-b, 4-c

80. According to Shatpath Brahman text
from the following explanations of
Debts:

(1) From Birth, one is indebted to
Gods. Rishis, Ancestors and
Humans.

One who performs Havan (sacrifice),
he gets rid of debt of Gods
One who studies Vedas, he pays off
the debt of Rishis.

One who desires (procreates)
progency his, debts to ancestors are
re-paid.

Codes :

(2)

(3)

(4)

(A) Only (1), (2) are correct and (3). (4)
are incorrect

(B) Only (1), (2), (3) are correct and
(4) is incorrect

(C) Only (2), (3), (4) are correct and
(1) is incorrect

(D) All (1), (2), (3) and (4) are correct

{8)S/14/2024/A 11 P.T.O.
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3;T^TO "t ?

(A) *^4=ticrMim, I

(B) "4 ^ t 1

(C) Vim, ̂  ̂ "RT^ ̂  1^
1

(D) MMdnI t I

82. 1JT ̂  ^ "03^
3RTO -t ?

(A) t I

(B) t I

(C) ^ t I

(D) t I

83. t :

(A) #T

(B) Rh^Ri^

(C) ^

(D) '3i].-s«<r^y,4i. ^I'ld

84. ^ 1^

iFH % ̂3^ ̂  i^#R ̂
■f^ ^ ̂  H ^ ^
^  Ri^t'd ^ ̂  t ?
(A) yfddiKcil^ "Ri^IRT
(B) Piq^liqi^ RnSJRI

(C) M<m1-^4ic1k1
(D) Ri^w

(8)S/14/2024/A

81.

82.

83.

84.

Which one of the following is inconsistent

regarding postulates of morality ?

(A) These are hypotheses.

(B) These are logically proved theories.

(C) These are not achieved from direct
knowledge.

(D) These are practically mandatory.

Which one is inconsistent regarding
'Good' according to Moore ?

(A) Good is inexplanable.

(B) Good is non-natural.

(C) Good thing is indefinable.

(D). Good'is epithetic.

'Be a person'-This statement belongs to :

(A) T.H. Green

(B) H. Sidgwick

(C) F.H. Bradley

(D) GW.F. Hegel

Robert is punished not because he has
stolen the sheep, but for others may not
steal it-This statement entails which
theory of punishment ?

(A) Retributive theory

(B) Preventive theory

(C) Sadistic theory

(D) Reformative theory

12
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85. "gjSTT (A) : ^ ̂

^  oqi^ll^cl 1^ t 1
r

(R) : M'41^HcIK1 hIPcIJ^HW 1^
r

^ ̂ mRuIIH ■% TR -Rl^

f I

,"51^ ^ "^tR :

(A) (A)cr8TT (R)"^' -^Ic^ t 3fk (R)

(A) ^ ̂  ̂5qn§qT f I

(B) (A) ^S7T (R)#if #, TR^ (R)

(A)^ ^ t I
1

(C) (A) WT t -tR^ (R) 3RTRT t I

(D) (A) '3RT?^ t tr;^ (R)-RRI t I

86. 1^* ^ ^ 1^

^  t ?

(A) ^ t™ t I

(B) ^ "SKR ^ ̂  i^«fe

TTOT t I

(C) ^ "^^T.w ^
t I

(0) 133?^ ^ ^ fi#T?r

t I

(8)S/14/2024/A

85. Assertion (A) : Human action be
I

explained in terms of purpose. j
Reason (R) : In teleological ethics the

rightness of an action depends upon the

value of .consequences.

Find the correct statements by using the

code given below :

(A) Both (A) and (R) are true and (R)

is the correct explanation of (A).

(B) BoA (A) and (R) are true but fR) is

not the correct explanation of (A).

(C) (A) is true but (R) is false.

(D) (A) is false but (R) is true.
■  f

86. Which one is not correct reg^ding

'GoodW?
I

(A). A good will is a good intention.
I

(B) It is a determined effort of produce
I
I

a good result.

(C) It is the only cause to produce a

good result.

(D) A good will issues in a good action.

"i
13 PjT.O.
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87. 'W: ̂  PlHldfed :

(A) : 3Ttl^ ^ ife ̂

f^?qpT t I

(R) : ̂  t,

^  ̂ -^f iHwRiRsld

d^d U,=h "RtT "i^ ?

(A) (A)Tr«^T (R)-^* W? t sk (R)

(A) ̂  ^wir t I

(B) (A) (R) ^ t, (R)

(A) ̂  t I

(C) (A) ̂  t, (R) 3TOc^ t 1

(D) (A) 3RT?q f, (R) ̂  t I

88. 37%]lRriRsld ^ WldiK WT

t % "tfe ̂  -Nwt^ ̂  t" ?

(A) -q.^.

(B) 3TR.T37T.

(C)

(D)

(8)5/14/2024/A 14

87. Consider the following regarding Kant:

Assertion (A) : Categorised imparative

is the law of pure reason.

Reason (R) : It is such end which all

persons naturally wish.

In the context of these two statements

which of the following is correct ?

(A) Both (A) and (R) are true and (R)

is the correct explanation of (A).

(B) Both (A) and (R) are true but (R)

is not the correct explanation of (A).

(C) (A) is true and (R) is false.

(D) (A) is false and (R) is true.

88. Which one of the following holds that

"Moral language is prescriptive" ?

(A) A.J. Ayer

(B) R.M, Hare

(C) C.L. Stevenson

(D) Philippa Foot

https://applink.adda247.com/d/XhqWf9lSap
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I

89. I ̂  "^3^ II fHcriii Chilly. :

^11

(l)v;^. 31FR

(3)

(4)

(a)

(b) 'm\

Wl!llcH4> ̂  t

(c)

^ t

(d) ^Rleti
I

^azncfl^ Wl ̂

cTS^ "=1^

^ ̂ "StR ^

;

(a) (b) (c) (d)

(A) (4) (2) (3) (1)

(B) (4) (3) (1) (2)

(C) (2) (4) (3) (1)

(D) (2) (1) (4) (3)

90. ^
I

(A)

(C)

qmi TTHni t ?

(B)

(D) ̂ .■^.

(8)S/14/2024/A

89. Match the List I with List II : '

List I List II

(a) Moral arguments (1) A.I. Ayer

are descriptive

(b) Moral language (2) C.L. Stevenson

is prescriptive

(c) Moral argument (3) R.M. Hare

is emotive

(d) Moral argiunent (4) Philippa Foot

cannot be

neutral like factual

judgement

Select correct answer using the code

given below :

(a) (b) (c) (d)

(A) (4) (2) (3) (1)

(B) (4) (3) (1) (2)

(C) (2) (4) (3) (1) •

(D) (2) (1) (4) (3)

90. Who holds the sense of dignity in man ?

(A) Bentham (B) Buttler

(C) Kant (D) J.S. Mill

15 P.T.O.
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91. ^ t :

(A) <\^ciK ^

(B) ̂ RTcIT 3fk ^n%l21T ^ ^

(C) ^

(D) <iMii=kl

92.

^ MttM ^ t ?

(A) XTR^

(B) Xl^l^wJH

(C) ifftx

(D) R\^

93. "feXT ^I#T^ ^ XI*tH

^ ferr ̂  "3X^8^ ̂  3n^ x^^ t ?

(A) ̂ tfen 3w^

(B)

(C)

(D) tm^^ST XFI

94. %XT XI#T^ ^ t

HiqW fMq^ql "

^ ̂  ̂ RR:, ̂  ̂
RR:-'^ it smr I R^
1^ ^ Rim t ?

(A) x^

(B) iTWOT "mtit

(C) XTX^-

(D)

(8)S/14/2024/A 16

91. 'Gulamgiri' of Jyotiba Phule is related to :

(A) Nationalism

(B) End of the slavery and caste system

(C) Integral Yoga

(D) All of the above

92. Who has discussed the inconsistencies of

Nationalism in his writings ?

(A) Dayanand Saraswati

(B) Radhakrishnan

(C) Rabindranath Tagore

(D) Mahatma Gandhi

93. Who has put the ideal of four Purusarthas

for holistic development of human beings ?

(A) Maulana Azad

(B) Deen Dayal Upadhyaya

(C) Thiruvalluvar

(D) Manvendra Nath Roy

94. Who has said-"You have read Matra Devo

Bhavah, Pitra Devo Bhavah. .but I say;

Daridra Devo Bhava, Muridi Devo Bhavah-

let these be your God, know that services

of these alone is the highest leli^on" ?

(A) Swami Vivekananda

(B) Mahatma Gandhi

(C) Dayananda Saraswati

(D) Deen Dayal Upadhyaya

https://applink.adda247.com/d/XhqWf9lSap
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95. ^ f :

(A) ̂

(B) ^

(C)

(D)

96. ^ ^ STfTfcT ^<iiNl4

WK ■S^l'Rtch ""^cHT ^ W
t ?

(A) sih:

(B) WTTto, 37TcT{iTO
^ail

(C) 37T5«Tf^, 3Tl?qfTO C^TT
a^iEZTTf^) ?rs^T

(D) ci^pHi^ aTTcqfro, w?if^ a^
■^nii

97. iwn tM ̂  wimw feOT ^ ̂
PiMPcrir^d "MT feR a^k.
^  ̂ ani^iK RT 'ciTK ^iid

:

. (a) ^ ^ 3lf!T ^ t I
(b) ^ ̂ TSZT^ ^ MPidttH

t I
(c) ^ "dR ^ *^"11 "'R arrtiiRo

11
(d) RT arnniRci

11
(A) (a) alk -(c) ■
(B) <£qei (b), (c) a?k (d)
(C) ^ (a), (b) afk (d)
(D) (a) ark (b)

(8)S/14/2024/A

95. The author of 'Darshanmala' book .is :

(A) Sri Aurobindo

(B) Narayan Guru

(C) Mohammad Iqbal

(D) Jyotiba Phule

96. In his concept of Philosophy. K.C.
Bhattacharya talks about which four
types of theoretic consciousness ?
(A) empirical, moral, objective and

transcendental consciousness

(B) moral, social, subjective and
objective consciousness

(C) empirical, objective, subjective and
transcendental consciousness

(D) objective, subjective, social and
religions consciousness

97. Think about the following statements
regarding Mahatma Gandhi's notion of
Satyagraha and find out the correct

answer on the basis of these statements :

(a) It is holding fast to truth.

(b) It is a method of conversion rather
than a method of coersion.

(c) It is a based on hatred, not on love.
%

(d) It is based on love, not on hatred.

(A) Only (a) and (c)

(B) Only (b), (c) and (d)
I

(C) Only (a), (b) and (d) 1
(D) Only (a) and (b)

17 P.T.O,
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98. rHHr^ndd ^ ^

^ "=1^ t ?

(A) "^ra HUciciK

(B) 3Tf?mnF

(C) 1^

(D) st^Wrt "q;^*

99. '"^IrJIT^f y^hivr

t ?

(A)

(B) wil

(C)

(D) tok

100. * Rt^=*^<<ri' ^

t?

(A) 1^ f I

(B) ̂  ^ I

(C) ^ f^.'nf

t 1

(D) WTF^ t I

(8)S/14/2024/A

98. Wliich one of the following is not related

to Sri Aurobindo's philosophy ?

(A) Integral Humanism

(B) Supermind

(C) The divine life

(D) Involution and evolution

99. Who has written the book, 'Satyarth

Prakash' ?

(A) Deen Dayal Upadhyaya

(B) Swami Dayananda Sarswati

(C) Vivekananda

(D) Rabindranath Tagore

100. Which is not correct about the book

'Thirukkural' ?

(A) It was written by Thiruvalluvar.

(B) It is a free verse poetry.

(C) It was originally written in Marathi

language.

(D) It is common ethical code.

18
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101. PimRtiRsjci nfcy, ari^

^ TRUt "5^

^ WT :

^ TEK^f ifeqw ?H ̂

aiI?qR f :

(i) JHIHM ^

(ii) ^IFTRf ^

^qRfcl ^ 3lk ^

t I

(iii) W7PT iferor ^

t I

(iv) ^feror «Tf^ t i

(A) (i) 4( (ii) ̂  t, (iii) aik (iy)

3RT?^ f*

(B) (i) 3^: (iii) ̂  t, (ii) 3^ (iv)

ai^Tc^ f*

(C) (i), (ii) ̂  (iv) f, (iii) 3?^

t

(D) (i), (ii) 3^ (iii) t, (iv) 31^.

t

102. 'eUfe 31^' -q^ McT fel

TM ̂  7

(A) (B) T3^.

(C) ■^. i (D) it.TTq7. ^?RH

(8)8/14/2024/A

101. Carefully read the following and then

choose the correct answer keeping the

codes in mind :

The grounds of common sense

knowledge, with reference to Moore, are :

(i) Universality of common sense

beliefs.

(ii) Negation of common sense belief

leads to pragmatic consideration.

(iii) Common sense beliefs can be

analysed.

(iv) Common sense beliefs are ultimate.

(A) (i) and (ii) are true, (iii) and (iv) are

false

(B) (i) and (iii) are true, (ii) and (iv) are

false

(C) (i), (ii) and (iv) are true, (iii) is

false

(D) (i), (ii) and (iii) are true, (iv) is

false •

102. The term 'Logical Atomism' was coined

by :

(A) B. Russell ■ (B) L.Wittgenstein

(C) GE. Moore (D) P.P. Strawson

19 P.T.O.
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103. "q.^. ^

:

(A) 3Wfn^ WTFteJi •^K f i

(B) ^ f 1

(C) "t I

(D) fT^^ITcW f 1

104. PlHrcrlRsid -^f ^

^  ̂ t ?

(A) -q^-TT^ ̂  31^^™

(B) ^ 3™:

(C) "3^ ̂

(D) ^ 1^

105. TOfcT ■^*
Pi^^ltnRaci "^Wt : "3^
a^RlRdd ^ ̂  3 ^ "^SITT^, 3l8^fc^
yi<J)[d4i ^ TtferPOT 37«lf^feT^

^ ̂  3 ^", "q?
■^rsH- t I

(A) (B) <^ci
(C) 31^zr (D)

106. ^ 37^^, ^iriTjuf ^pM ^
M^. -t 1
(A) 3«%T, 3^ tnw
(B) sSR
(C) "amrtonr, ^rsFnteBT 3ik
(D) "^fer 131T, srk

(8)S/14/2024/A 2

103. 'A priori propositions' according to
AJ. Ayer, are :

(A) based on inductive generalisation.

(B) empirically verifiable.

(C) analytical and tautological.

(D) factual.

104. Which of the following is not a condition

required in the 'picture theory' ?

(A) One to one correspondence

(B) Form of representation

(C) Rules'of projection

(D) Rules of verification

105. The statement "The conect method in

philosophy would really be the
following; To say nothing except what
can be said, i.e., propositions of natural
sciences, i.e., something that has nothing
to do with philosophy" was made by :

(A) Wittgenstein (B) Russell

(C) Ayer (D) Ryle

106. Characteristics of care (sorage) identified
by Heidegger are ;

(A) Facticity, Possibility and Fallenness
(B) Nothingness, Negation and Being
(C) Authenticity, Inauthenticity and

Facticity

(D) Thrown, Anxiety and Mood

0
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107. ^ Hdli^HK IdMRiRsid

/  *^*(A) '^'

(B)

(C) ̂ q<ei1

(D) ^

t

108. "^#7 ̂  t % fer 1^

^  3mi "^T^ t, ̂  f :

(A) RH<&l'd ^

(B) Pi^hiM ^ mRihisi ■^<11

(C) cnf^ r^J^elNui ^

(D)

109. 'f^ivfRPPt fM« 3;fni> '^"
(rl<a=ti* '"f I

(A)

(B) ^31^ ^f^TRT
(C)

(D)

no. 3T5^TR *-5081^ ^oiihIhi^i to
•q^^ ^ TTFf,
(fqrfWiMf^T^)
(TO^-3irt^qu|) "q^ 37T?^Tft^ f :

(A) (B) ^ntTK
(C) (D) ^

(81S/14/2024/A

107. Which of the following is an example of
definite description, in accordance with
Russell's view ?

(A) 'ThisV'That'
(B) Scott

(C) Waverley

(D) The present Prince of England is
handsome

108. Camap maintains that the method that
can be meaningfully adopted by
philosophy is :
(A) constructing a theory
(B) formulating a system
(C) method of logical analysis

(D) hypothising postulates

109. The author of 'Philosophy and the Mirror
of Nature' is

(A) Marleau Ponty

(B) Emmanuel Levinas

(C) Richard Rorty

(D) Soren Kierkegaard

110. Who maintains that 'the way to

fundamental ontology would be based on

phenomenological anthropology ?

(A) Husserl (B) Heidegger

(C) Kierkegard (D) Sartre

21 P.T.O.
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111. ^ ?

wrflf ■^ar^tfrmi^ii

(A) (B) ^ fqmw

(C) (D) 3T^

112. cblH^cb ^ 31^ TRT ^ #T ^
■n^ t ?
(A) ^
(C) W

(B)

(D) ^

113. ^ ^ STIc^lfW "q^ "Hc^^ ■zn 113.
2fTSff^^ awT^ "q^ t "q^
^Prar ^^qpT qi^^icii t ?
(A) •^q^RRqqr "^qiq
(B) "^qiq

(C) "qfqfeqitqqr ^sqrq
(D) iHciKcb "^qrq

114. 1^ TTJq TFq 114.
t, tii aT8^ t :

(A) 1^ Mq q4 qr^ q^ ̂
(B) qrfrfqr qq^* qiraq
(C) qrfrfqr qqiaiP #( "^q^sft' qt

qfqq^qq

(D) qrf qjt xnqqfhr qi q "RHqi

115. chYi^q ^ wq "fem XRq qq "^iq^ 115.
#T qfPM t ?

(A) qiW (B) XM

(C) #q (D)

(8)S/14/2024/A 22

111. Who said in Shantiparva ?

"Dandah Shastram Viduh Sarve Dande

Sarvam Pratishthitam I

Dandah Swasminhi Dhamien Shasati

Prithivimimam IT'

(A) Krishna (B) Bhisma Pitamah

(C) Dronacharya (D) Arjuna

How many elements are there of a State
according to Kamadanka ?

(A) Three (B) Five

(C) Seven (D) Nine

112.

When the government has to attack on
terrorists directly or indirectly, what is
the action called :

(A) Remedial measure

(B) Punitive measure

(C) Reactive measure
(D) Preventive measure

When a state is known as a Secular

State, it means :
(A) Promotion of one particular religion
(B) Governance by religious laws
(C) Restriction on religious practices

and freedoms

(D) No religion is considered as a State
religion

Which is the most important element of
the state in the Saptanga theory of
Kautilya ?

(A) Treasury (B) King

(C) Army (D) Fort
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116. ^ PHHrdRsId ^ W

^ ̂  "3^^' "4* ^ TT^

t ?

(A) ^

(B) "RSTTaif ^

(C) 3TORT ̂  "snf^^

(D) ̂ qro "wf ̂

117. ^TRcfrzT -Hf^STR

w t ?

(A) W (B)

(C) W (D) ̂

118. ̂ HHI'dcJK ^ 37^«TIOT PdHPdP^d ^

t ?

(A) ̂<M=tidlcil«\ (B) ̂  "^TET^

(C) ̂ lyMciK (D)

119. TWTT ^ WTTW PHHPdPteid

f^ WT ̂  ?Tfel t ?

(A) Xroifte ijipKi

<B) 371^

(C) VliORd)

(D) ̂

120. ̂ TdtJUdK ^ ̂ t- ?

(A) ?1RH ^ J^lPddilT m

(B) d)l4HlP^dil ^ ieiPdd'MT ^

(C) ^ ̂'-dMd

(D) «41^mfddil "^Tf^* ̂  ̂PdR^d

116. According to Kautilya, what among the

following is one of the four purposes of

Dandaniti ?

{A) Promotion of cultural heritage

(B) Presevation of religious practices

(C) Acquisition of the unacquired

(D) Expansion of trade routes

117. What is the number of Fundamental

Rights in the Indian Constitution ?

(A) Five (B) Six

(0) Seven (D) Nine

118. The concept of Socialism is related to

which of the following :?

(A) Anarchism (B) Class struggle

(C) Imperialism (D) Colonialism

119. According to Mahatma Gandhi,

Satyagraha is a power of which of the
following kinds ?

(A) Political Power

(B) Soul Power

(C) Physical Power

(D) Public Power

120. What is the key condition ■ of

Constitutionalism ?
I  - I

(A) Effective control over the arbitrary

powers of governance

(B) Enhancing the powers of Execution

(C) To manage the Divine order

(D) Ensure the powers of judiciary

(8)S/U/2024/A 23 PiT.O.
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(A) r^c^w

(B)

(C) oqr^M^ Ph-si'^

■  (D) teM

122. rHMpHPsld Pi^crM "3:^

^Pl=tiCtl HMl WcIT "I" ?

(A) 3?k

(B) afk ̂

(C) ̂  aitar

(D) sfk a^feK

123. HKI^K ^

"feT^ ^iRT ^ ?

(A) HKlciK

(B) mRR^Pl*^! H1<1^K

(C) "3^R^ 'lldqiS

(D) "^f <=til^ 'Iel

124. WPR ̂  it ."^ ̂  ̂ *^' ̂
"RfWnarf *a?R^' -ih P\mi "i" i
^R!RT r=h^4il t ?

(A) "^5^1

(B) 1%4^ f^STT

(C) -ajPrl^i

(D) -sqiKn

(8)S/14/2024/A

121. Plato was influnced by which theory of

human nature ?

(A) Utopian theory

(B) Darwinian theory

(C) Professional theory

(D) Pythagorian theory

122. Which of the following options, are the

foundations of liberal morality ?

(A) Plurality and Justice

(B) Justice and Enlightenment

(C) Enlightenment and Authority

(D) Purity and Authority

123. Which category of feminism works for

the eradication of domination and elitism

in all human relationship ?

(A) Radical feminism

(B) Eco feminism

(C) Liberal feminism

(D) None of the above

124. From the' beginning man has named

himself the 'self and woman 'the other'.

Whose statement is this ?

(A) Dorothy Kaufinaim

(B) Simone De Beauvoir

(C) Juliet Mitchell

(D) Dworkin
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125. PiHi*n*>d ^ 'y.j^rcrid "q;^* ^

(a) ^i1 Qlich
1

1

(1)

i

(b) (2)

(c) RihIh ^ 1^371 (3) eircHJ,8PT

(d) (4)

•

fqchtrM :

(A) a-2, b-3, c-4, d-1

(B) a-3, b-1, c-2, d-4

(C) a-4, b-1, c-2, d-3

(D) a-4, b-3, c-1, d-2

126. ^ 3i^yHK 371^ '=hll'^

(A) ife, 37T^-a73?TRR' ̂

(B) 3WJ^ ak "RTtWR

(C) ife; 37T^-3iiVimH 3fk ̂ .

(D) ^ aTT^UCT

{8)S/r4/2024/A 25

125. Match the following and find out the

correct option :

(a) John Locke

(b) Rousseau

(c) Simone de,

Beauvoir

(d) Hobbes

(1) The Social

Contract

(2) The Second Sex

(3) Leviathan

(4) Two Treaties of

Government

Option :

(A) a-2, b-3, 0-4, d-1

(B) a-3, b-1, c-2, d-4

(C) a-4, b-1, c-2, d-3

(D) a-4, b-3, c-1, d-2

126, What are the four cardinal virtues a ideal

state should possess as per Plato ?

(A) Honesty, Wisdom, Self-discipline,

and Justice

(B) Justice, Honesty, Integrity and

Benevolence

(C) Wisdom, Courage, Self-discipline

and Justice

(D) Compassion, Justice, Wisdom and

Integrity '

P.T.O.
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127. ^ teRT ̂  t ?

(A) a'fiicHcti ^iRiqiqis sftr

(B) ^ sfk 3#T^

(C) ^ feRT sik ^

feRT

(D)

128. rHHI^hd ^ ̂APdd "q;^' ^

(a) "^f^T (1) STcR-tM

(b)

(c) s««r^ fAinlei**)!

(d) ^TH tf^

f^chc^ :

(A) a-2, b-3, c-4, d-1

(B) a-3, b-4, c-1, d-2

(C) a-4, b-2, c-3, d-1

(D) a-3, b-1, c-4, d-2

(81S/14/2024/A

(2) 'wm

(3) ^ ■

37I?q--?n8RTO

(4)

127. What are the main tenets of Marxism ?

(A) Dialectical materialism and

Historical materialism

(B) Theory of revolution and concept of

Surplus value

(C) Doctrine of class conflict and theory

of revolution

(D) All of the above

128. Match the following and find out the

'  correct option :

(a) I. Berline '

(b) Hobbes

(c) W. Kymlicka

(d) John Rawls

Option :

(A) a-2, b-3, c-4, d-1

(B) a-3, b-4, c-1, d-2

(C) a-4, b-2, c-3, d-1

(D) a-3, b-1, c-4, d-2

(1) Intergenerational

community

(2) Well ordered

society

(3) Self-abnegation

& Self-realisation

(4) Absolute monarchy.
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129.

3iHr4 'SKI y-cjiRd

^ ̂cifc|K>J|| ^ "^irTT

^ t ?

(A) TI^ Mk\^

(B)

(C) ̂ -d<fi^1<q ^«TT2f^

(D) ■?TT^^fH=tidl

130. Rtd RhHiol'^i ^TR^i1c!R? i^ff^siflT ^

oillMdi yfd^H ^ «Z(pr 1^

t ?

(A) "^R^ifOT fcrf^OT

^ TRT ^nfiRf wnfM

^ t I

(B) TiR^dOT a^oTO^sq^' -

^  "?hit "I", ^

37^ ^ I
I

(C) ^Hi^Pddi f^^mr (^Rki'id srk

MiRciiRch ar^RRT-"^ ^ f I

(D) ^dt.-i

129. The concepts of fairness promoted by

Amartya Sen in place of international/

Intersocietal and national justice theory is

known as :

(A) National Particularism

(B) Plural affiliation

(C) International realism

(D) Grand Universalism

(8)S/14/2024/A

130. Will Kymlicka has focused on which

broad patterns of cultural diversity ?

(A) Cultural diversity arises due to

previously incorporated self-

governing territoridly concentrated

cultures into a large stake.

(B) Cultural diversity aries from

National minorities, - who

maintained themselves as distinct

*  ■ I .

societies.

(C) Cultmal diversity aries from
\

mdividual and family immigration.

.  (D) All of the above |
I
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131.- STT^iTR^m

37k f^r^ fm,

I

(A) f

(B) ■#?! 37^^ t
(C) 1^7 ^!T t
(D) ^ ̂ eft t, "?t i

132. PiHrcrin^d k* ^
*^^7t S P t' ̂  ^ t ?

(A) ^ S 37-P t
(B) ^ S, P t
(C) ^ P, S t
(D) ^ S 3T-P t

133. iHHlcrlRsltl "k* "^ifeT
■:

P, M i, S, M f,
37^: ^ S, P t :
(A) SToqT^

(B) 37Mk^

(C) aTfWkei

(D) tf^T^

134. Pi^^f^Haei "k* ^ S, P 3^
S/P"^* t' ^

t?

(A) ^ZTMcft (B)

(C) 37^-f^^ (D) '^m

(8)S/14/2024/A 28

131. The deductive argument can have all true
premises and a false conclusion if:

(A) The argument is sound

(B) The argument is invalid

(C) The argument is valid

(D) The argument is neither valid nor
invalid

132. Which of the following is a correct
obversion of the categorical proposition,
*A11 S is P' ?

(A) No S.is non-P
(B) Some S is P
(C) No P is S

(D) Some S is not non-P

133. Given the syllogism :

All P are M; All S are M;

Therefore, All S are R

Identify the fallacy:

(A) Undistributed Middle

(B) Illicit Major

(C). Illicit-Minor

(D) Existential Fallacy

134. Which of the following describes the
relationship between 'All S are P' and
'Some S are not P' ?

(A) Contradictory (B) Contrary

(C) Sub-contrary (D) Subaltern
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135. wwm Mwf ̂

W7T =h^Qil^ t ?

(A) A sik E (B) A sk O

(C) E 37k I (D) I 3i^ O

136. ~ p> ~ q

-P

:.~q 3TTTO t ?

(A) 37^

(B) ""3^ 375T7H

(C) ̂ ctiRrH^h

(D) "5^7^ "k* ^ ̂

137. 3^ "kk ̂  TFnk? k*

I Wl" ^ ■g.'iiq
I

(A) Jv~M (B) ~(J.M)

(C) ~ J. ~ M (D) ~(JvM)

138. ^BPTI^ ^ ^ (CX , FX)
kFTfMw k k ^ ^JkcT

I

(A) (X)(FX=.CX)

(B) (X)(CX3-FX)

(C) (3X)(CX.FX)

(D) (X)t~CX3FX)

{8)S/14/2024/A

135. In the traditional -square of opposition,

which two propositions are subcontraries ?

(A) A and E (B) A and O

(C) E and I (D) I and O

136. ~ ̂  ~ ^

-P

.*. ~ ̂  is a valid form of

(A) Modus tollens

(B) Modus ponens

(C) Disjunctive syllogism

(D) None of the above

137. Jack and Mack both did not go for the

graduate ceremony. Identify the correct

symbolization.

(A) Jv-^M (B) ~(J . M)

(C) --J. ~M (D) ~(JvM)

138. The common cold is never , fatal

(CX , FX). Identify the correct

symbolization.

(A) (X)(FXz)CX)

(B) (5Q(CX=o--FX)

(C) (3X)(CX.FX)

(P) . (X)(rCXzDFX)
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139. frofefer 3TTWn^

(A) ̂  ̂  ̂ f ̂  I

(B) "q^C^

aTienw^' "gnr ■^* ^
t  I

(C) ^ ^ Pit^iNT ^ wm
Ht^a "f I

(D) Pl"*ft4 STt^TqTT^: 3Tr^K'=1|chH
^ t I

140o ^

371^ ^ "77^ I ^
?R ^'WT '=T^t?'^'^^
^ W^lM I
(A) 'JiK'^Nl WiHlm^
(B) ^
(C) W TI^

(D) aT^lFfij^

141. "^f^' ^ t :

(A) 1^ "f^ q)f2*rii^^«;ii
(B) ^rIM (^87HN^ "HI^) ^
(C)

(D) 37T3^ffw "OTft^ ^

142. PiHPdr^ci ^ ^ TT^qm ^

,  t?
(A) d^^Kqi^ (B) ii'Oqi'd

(C) (D) 4RuiiHci|({l

(8)S/14/2024/A 30

139. Which of the following statements is true

about inductive arguments ?

(A) They are either valid or invalid.

(B) Their conclusions are probable
but not guranteed by the

premises.

(C) They offer conclusive proof of their
conclusions.

(D) The conclusion follows necessarily
from the premises.

.. 140. 'There is no such thing as knowledge
which cannot be carried into practice, for
such knowledge is really no knowledge at
all ? Identify the fallacy committed.

(A) Hasty Generalization

(B) Petitio principi

(C) Complex question

(D) Ignoratio elenchi

141. The concept of 'Baby Selling' is related to;

(A) In vitro Fertilization

(B) Surrogacy

(C) Cloning

(D) Genetic mutation

142. Who amongst the following is against
abortion ?

(A) Liberalist (B) Feminist

(C) Conservative (D) Consequentialist
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143. ^

^  318T^ 'jDch<s^^ <i4ct,<ui

(A) '^<2i*^r^

(B) ̂ ^Fo69<t)

(C) 'W^

(D)

144. Mlci< HMcflq oql^c^ "qi^

'^Ifll "i" ?

(A) "^njiTRR ^
(B) ̂ -p ^ ̂rq
(C) ̂  ̂

(D) W W "SWcT

145. "fel^ ̂  1^ 'q^ ̂  aqF%H 3FT ̂
31T%Rf ̂  ^ "q^ fm "3^ ̂

«i^N "q^j ^<1^ "^it cR?" ^cticii ^ ?"

(A) ̂  tlqq

(B) "te 1^

(C) "^fSFR^RR

(D) 3R<^ #I

146. PHHlRhd ^ ̂  ^ #T

^5IRIT t" ?

(A) dl-jbdiP^^^

(B) ̂

(C) iMfeft

(D) iftfeqi

(8)S/14/2024/A 31

143. Which type of euthanasia allows patient

to die by withdrawing treatment or life

supportive equipments ?

(A) Voluntary euthanasia

(B) Involuntary euthanasia

(C) Active euthanasia

(D) Passive euthanasia

144. When does human personhood begin,

according to Peter Singer ?

(A) After birth

(B) After an year of birth

(C) Before birth

(D) After six months of birth

145. Who said, "Animal Liberation movement may

sound more like a parody of other liberation

movements than a serious objective" ?

(A) Tom Regan

(B) Peter Singer

(C) Alasdair Maclntyre

(D) Amartya Sen

146. Which one amongst the following is not
counted in the three elements of

e-Govemance ?

(A) Democratic Governance

(B) Information

(C) Communication Technology

(D) Free Media

P.T.O.
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147. ^ "5^ ^ ?

(A) ̂  T3^* ^^Rch

(B) w^ srk tf^ HTRi=h

(C) Ti^ "q;^

(D) ■5H^=K1 "4' •=hl^

148. PHHRiREid ^ '^m\ mm
t ?

(A) ^Ri4>di ^
i\^ t I

(B) ^ ̂  ^ f;, 3q^fw
^ ^ t I

(C) Mr ^
RfRr ^ ^ ^
t i

(D) RrRr sfk nirdJ^ii^ ^

149. PHHlTchd R" ^ ̂

(A) "te IW-'OfW
(B) ^ W "QTTto Tff^
(C) "Q;^ Prl'MlMT^rd-y.dlHei wf
(D) 'SjH 3Tri>

150. 1981 *^Rfe Wl^
laRn ?iT ?

(A) ^J#T^
(B) ^ARdiH ■=#! "sHt
(C) ^
(D) ^

(8)S/14/2024/A 32

147. Who were the main proponents of
Libertarian justice ?
(A) Karl Marx and Fredrich Engles
(B) F.A. Hayek and Robert Nozick
(C) John Rawls and Amartya Sen
(D) None of the above

148. Which of the following is a false
statement ?

(A) Morality is not always based on
law.

(B) Some acts might be immoral
without being illegal.

(C) Laws must be obeyed as for
disobeying the law punishment can
be given.

(D) Law and Ethics do not share any
close connection.

149. Select the wrong answer from the
following pairs :
(A) Peter Singer-Animal Liberation
(B) Tom Regan-The Case for Animal

Rights
(C) Aldo Leopold-Animal Farm
(D) John Rawls-A Theory of Justice

150. Who for the very first time, opened the
'Philosophical Counselling Centre' in 1981 ?
(A) German Philosopher Gerd

Achenbach

(B) American Philosopher John Dewey
(C) Israeli Philosopher Ran Lahav
(D) Irish Counsellor Johrr McLeod
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